FRERO O [0 A14EAX010

gogn FRERD [0 [0 A14EAX010

godn goooboobboodd

HEN .00/0

goon

goon gbooobDbooDsssy 10 09050
ERERERN 021-51085161 13045641319
ot

FRERU O OO FRERUOUOUOFRERU D DD UOOOOOUOODODOFRERD OO FRERUO U OO FRERD O O

FRERUOOUOUOFREROUOUOUOFREROUUO DO FRERUDUOOUOUOUOUOOFREROD O OO FRERO D DO OO
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
goooobo0ooooooobbbbUOrFRERDODO:O000DODOO 20000003
gobbb4tbddgosggdtebbbodo . ggobbborzooddooosggoboobDeon
O0000D000D0 O0220VACE 10%0 000 D0~1000CRROOD0O Ox 00img/IDCO OO O1
KOhmOUOODO O+ 10mg/I0C0 00 O+ 010mg/ID 00 O3WattD O O1kgd O OO OIPESH O OO
00~50° CODDU0O0ODDOO O220VAC: 10%0 000 00~1000CR2O0OD0O O £001mg/I0O0ODO
O1KOmUOOOO O+x10mg/lD0O0O0 Ox010mg/I0C DO O3Wattd O O1kgD O OO

0 IPe5U 0 U O 0O0~50° CFRERU U U FRERU U U FRERU U U FRERO FRERD I O FRERO O O O O O
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
guoooobbogoad

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobbboogooooboo
guooobobbtoooguoboobbuoooooooog

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobobbooogooaobobo

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gooooo

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobobbooogooaobobo



guodoobbogogad

4C15XXXK

4C35XXXK

4C5272XK

4C5296XK

ACTOXXXK

4CT7296XK

ACSEXXXK

Kit for sealing mod. En. meters

Sealable term. cover 2 mod.En. meters
Flush mounting acc. 72x72mm for Q52...
Flush mounting acc. 96x96mm for Q52...

Flush mounting acc. 96x96mm for C70...
Flush mounting acc. 96x96mm for X72DL3..

Bezel kit flush mount. En.meters for MT.

4F14TAP Panel cutout cover 144x144

4F48TAP Panel cutout cover 48x48

4F72TAP Panel cutout cover 72x72

4F96TAP Panel cutout cover 96x96

AGINXXXK

6SFE01064

6SFE01256

6SFV02003

6SFV02016

6SFV02064

IMVA0314G

9IMVA0414G

IMVA0525G

IMVA0620G

IMVA0825G

IMVA1035G

IMVA1240G

IMVA1650G

Bezel kit flush mount. En. meters
Software FRERENERGY max 64 En. meters
Software FRERENERGY max 256 En. meters
Monitoring Software max 3 meters
Monitoring Software max 16 meters
Monitoring Software max 64 meters
Headless screw H=14mm. M3
Headless screw H=14mm. M4
Headless screw H=25mm. M5
Headless screw H=20mm. M6
Headless screw H=25mm. M8
Headless screw H=35mm. M10
Headless screw H=40mm. M12

Headless screw H=50mm. M16



9SAMCP Protect.cap CT fixing screws

9SAMG Protection rubber gasket

9SAMP  Big rubber terminal covers

9SAMPDC CT fixing low foot DRW:0358001
9SAMPDL CT fixing high foot DRW: 0357P01
9SAMPP Small rubber terminals covers

9SBMCL Selector switch protect. cap

9SBMCST Instruments terminals cover UTDPC0368.3
9SBMCTA CT terminal covers

9SBMCTA125 CT terminal covers

9SBMCTAB84 CT sealable term. covers for AT84-AT126
9SBMCTV VT terminal covers 2 pcs.

9SBMPRT Primary/Sec.insulating sector mod. TAT106
OSFCC72SP  Sealable front door IP65 72x72
9SFCC96SP  Sealable front door 1P65 96x96
9SFCC98SP  Sealable front door 1P65 96x48
9XTMUNITAACS0 TA MISURAPER C.S. 2500 SP.
9XTMUNITAACS1 TA MISURAPER C.S. 1000 SP.
9XTMUNITAV037 TA MISURA PER C.S. 1500 SP. VAC 4658X043
9ZSGP14 Gasket IP54 prot. 144

9ZSGP48 Gasket IP54 prot. 48

9ZSGP72 Gasket IP54 prot. 72

9ZSGP96 Gasket IP54 96

9ZSGP98 Gasket IP54 prot. 96x48

Al4EAX010  An. Ammeter 240° In. 10A ac

ALLEAXXXXCO01 An. Ammeter 240° In.1Aac5In


http://www.tcpdf.org

